I 204

o5 2 ﬂ’n‘iiiiEiE A4 BHE)I
(H#£Em) | BR A
—{%IE B
XE |[SECC)| KECC) | HBUKE | F#iR 48 B&
48| HREE 20.5 16.4 == BE me mR
68 = 23.0 18.3 =RE mEX x|t -h mR
8H| &= 31.5 295 xE BE BER-E me
10A| M5 22.0 21.3 =RE BE xER-% me
128 5 6.5 10.0 =IE BE ®me mR
2A| IRES 7.7 7.5 RE k) e - % B/R
4ERIBER 3
oH DO BOD SS KEEHK
(mg/) (mg/) (mg/l) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE (75%1E) - 9.8 0.6(0.5) 1 1300
48] 79 10 <05 1 79
6A| 73 9.4 <05 2 3300
sAl 77 7.6 1.2 1 3300
108 75 8.9 <05 <1 330
128 79 11 <05 <1 49
28] s 12 <05 2 490
BFEER
NI INEDS & £ ANEvAaL| #HME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EA(E] 0.01LLF | JE#RHE | 0.01LLF [ 0.05LLF [ 0.01LLF [ 0.0005ELF
E{E]  <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2A] - - - - - - -
ooant ... | 1,2->%701,1->5an[>X-1,2-2508[1,1,1-~F)50
PCB .y miEfEaR | D rEly NTFLY RIS
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#EE] ERE [0.02LLF ] 0.002LLF [0.004LLF | 0.02LLF [ 0.04LLF 1LF
SEHfE] <0.0005 | <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
48[ <0.0005 | <0002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
6 A| <0.0005 | <0002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
108 <0.0005 | <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
128 <0.0005 | <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
24 - - - - - - -
1,1,2-ky4 [FUYAAR TS 00x(1,3->9A — . —see FARAH
noxTsy | TFLY | FLY  |aFdaky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 L F[0.03LLF | 0.01LLF [ 0.002LLF [0.006 L F| 0.003LLF [ 0.02LLF
SE#fE] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4A[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6 Al <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
108]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Ml 001LLF [001LLF| 10UTF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.24 <0.1 <0.1
4H] <o0.001 <0.001 0.22 <0.1 <0.1
6A] <0.001 <0.001 0.28 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.28 <0.1 <0.1
12H] <0.001 <0.001 0.17 <0.1 <0.1
2R - - - - -
EDHIEE
Nonmn| TEX | 2@ @ | 2E% | onafos | TLaTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.28 0.020 - 0.006 <0.001 <0.008
4R - 0.24 0.006 - 0.006 <0.001 <0.008
6A| - 0.32 0.021 - 0.009 <0001 <0.008
sA| - 0.25 0.011 - 0.005 - -
108 - 0.30 0.026 - <0.005 <0001 <0008
128 - 0.22 0.022 - <0.005 <0001 <0008
28] - 0.36 0.035 - <0.005 - -
BiLH HRHERTE | R ; = i S
IT/=| kS coD el > AE EXizEx
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 4 1.0 <0.01 <0.01 - 85
4AH| <0.02 4 1.0 <0.01 <0.01 - 70
6A] <0.02 4 1.2 <0.01 <0.01 - 63
8A - - 1.0 - <0.01 - 89
10H]| <0.02 3 1.2 <0.01 <0.01 - 80
12H]| <0.02 4 0.7 <0.01 <0.01 - 130
2R — - 0.8 - <0.01 — 75




T RR204E

¢ 3 =
o5 2 TEE | A4 Balll
(HyR) | J® A
— g8 B
Xz |[SBECC) | KiE(C) | BEUKE | iR =Xz R
48 H&H* 22.0 16.1 =IE BE me mR
68 26.5 18.6 =RE mEX x| - R mR
8AH %E 32.2 30.1 =IE BE kEf-$ mR
108  hEE 23.9 21.7 == BE kEf-E mR
128  REE 12.0 10.8 == BE kEfR-$ mR
28| 1REF 8.4 7.7 x[E BE ER-H ER
4FRIBIER _
oH DO BOD SS KEEHRK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E]| 65~85] 75LLF | 20LLF | 25L0F | 1000LLF
EHIE(75%1E) - 10 0.7(0.8) 1 1100
48] 78 10 <0.5 4 79
6A| 74 9.3 0.8 2 1300
8A|l 77 7.6 0.6 i< 2200
10A] 77 9.1 <0.5 A 1300
12A8] 79 12 <0.5 i< 220
2A] 718 13 1.0 1 1300
BEIER
N INESS R ANESOL| #HFE BiKE |[7LFILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Bl 001LLF [ FEH/H | 001LLF | 0.058LF [0.01LLF [ 0.0005LLF JERRH
EiH{E - - - - - - =
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
124 - - - - - - -
28 - - = = = - -
SoA0A e | 1,2-0908 [11-S500[P2-1,2-050(1,1,1-k) 50
PCB gy | PRERR | nrgy | 'zFLy | nrFLy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E] JERH [0.02L0LTF | 0.002LLF [0.004LLF | 0.02LLF | 0.04LLF 1LTF
EiH{E - - - - - = =
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1.1.2-hy4 [FUo00A[Fr5500x]1,3-290 = S =33 FAALH
aazsy | TFLY | FLy  |@Fasy| TI7A| ¥RIY NI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E0.006LLF[0.03LLF | 001LLF [0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
EiHE - - - - - = =
4K - - - - - - -
6A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE{E] 001LLTF 10.01LLF 10LLF 0.8LLF 1LLF
15 = - - - -
4A - - - - -
6A - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
24 - - - - -
ZDHIFE
N—A~FH RILLTIL
g ZER £ 7] FEH | JAORLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
F{E - 0.28 0.021 - 0.007 — —
4K - 0.26 0.006 - <0.005 - -
6H - 0.31 0.016 - 0.007 - -
8H - 0.21 0.006 - 0.010 - -
10A - 0.29 0.026 - 0.009 - -
124 - 0.22 0.024 - <0.005 - -
2R - 0.38 0.047 — <0.005 - -
X7 WIHERE | VB : e = S
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (4 S/cm)
F{E - - 1.1 - — — 81
4A - - 1.2 - - - 80
64 - - 1.1 - - - 64
8H - - 1.0 - - - 80
10H - - 1.2 - - - 94
124 - - 0.8 - - - 92
2R - — 1.0 — — — 76




T RR204E

EEE | A4 SES
iR
(BER) | #® A
— g8 B
XE [SUBCe) | KEB(CC) | H#EKE [ FiR =i BR
48| HREE 22.0 16.9 == BE me |
68 = 28.0 19.0 =RE mEX k|- mR
8H| #= 30.5 29.4 == BE kEf-$ me
10A| M5 24.3 21.9 == BE kEf-E me
128 5 15.0 11.7 == BE - mR
2A| IRES 9.8 7.8 RE k) fRE - % B/E
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 9.7 0.6(<0.5) 1 1300
48] 78 10 <05 <1 790
6A| 74 9.3 <0.5 2 230
8A|l 15 6.7 1.0 <1 2300
10A] 7.2 9.0 <05 <1 1700
128 78 11 <05 <1 1300
28 717 12 <05 1 1300
BEIER
NS INESS P ED AEIOL] HME ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | ERE | 001LLF | 0.05LLF [ 0.01LLF | 0.0005LLF JERH
EH{E]  <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
10A] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
SoA0A e | 1,2-0908 [11-S500[P2-1,2-050(1,1,1-k)50
PCB gy, | PREER | nrgy | 'zFiy | nrFLy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s E#RE [0.02LLF ] 0.002LLTF | 0.004LLF [ 0.02LLF | 0.04LLF 1LTF
E{E] <0.0005 | <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
48] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
6| <0.0005 [ <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8AH - - - - - - -
10A8]| <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
12 8] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1.1.2-ky4 [FUoORAFFSS00I(1,3-09A = N FARUA
noTsy | TFLY | FLY  |aFaxky FOIL| VROV )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF |0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10A8]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Ml 001LLF [001LLF| 10UTF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.26 <0.1 <0.1
4H] <o0.001 <0.001 0.25 <0.1 <0.1
6A] <0.001 <0.001 0.36 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.24 <0.1 <0.1
12H] <0.001 <0.001 0.20 <0.1 <0.1
2R - - - - -
EDHIEE
N SR | 28 @ | 2E® | sansus |TLETV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.32 0.022 <0.04 0.006 <0.001 <0.008
4A - 0.28 0.007 <0.04 <0.005 <0.001 <0.008
6H - 0.38 0.018 <0.04 0.009 <0.001 <0.008
8A - 0.31 0.010 <0.04 <0.005 - -
10H - 0.31 0.025 <0.04 <0.005 <0.001 <0.008
12H - 0.25 0.026 <0.04 <0.005 <0.001 <0.008
28 - 0.41 0.048 <0.04 <0.005 — —
BieH HRHERTE | R ; = i S
IT/=| kS coD g > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
EHE]  <0.02 6 1.1 <0.01 <0.01 - 89
4H| <0.02 6 1.3 <0.01 <0.01 - 110
6A] <0.02 4 1.4 <0.01 <0.01 - 68
8H - - 0.9 - <0.01 - 82
10H]| <0.02 7 1.2 <0.01 <0.01 - 93
12H]| <0.02 8 0.8 <0.01 <0.01 - 100
2R — - 0.9 - <0.01 — 80




T RR204E

YO8 | Al =3
2 % FFOX )44 Balll
(HyR) | J® A
—RI8 B
Xz | SBECC) | KiE(C) | BEUKE | iR =i BR
48| HREE 22.0 17.1 == BE me mR
6A| #E= 24.0 19.3 =RE mEX x| - R mR
8H| #= 32.9 28.8 == BE kEf-$ me
10A| HREE 245 224 =B BE xEf-E mE
128 5 16.0 13.0 =RE BE SRR me
28| iREE 8.5 8.4 == BE ) M
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LAF
EHE(75%1E) - 9.4 0.7(1.0) 1 1200
48] 79 10 <0.5 1 330
6A| 15 9.3 0.8 2 1300
8A| 69 5.1 1.1 <1 790
10A] 77 9.1 <0.5 4 1700
12A] 79 11 <05 i< 2800
28 7.7 12 1.0 1 70
RBEIER
NS INESS & o) AEIOL] HME ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Bl 001LLTF [ EE/H | 001LLF | 0.058LF [0.01LLF [ 0.0005LLF JERRH
iy - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
ooa0A e we | 1,2-2708 [11-0900|22-1,2-2450(1,1,1-k) 40
PCB gy, | PRERR | nrgy | 'zFLy | Ly AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#e{E] JERH [0.02L0LTF ] 0.002LLF [0.004LLF | 0.02LLF | 0.04LLF 1LTF
iy - - - - - - -
4K - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,1,2-ky4 [FUYAA TS 00z 1,3->9A = Smpate FARA
aaIsy | TFLY FLY oroRy Fo5L e P %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E0.006LLF[0.03LLF | 001LLF [0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
Eiy - - - - - - -
4K - - - - - - -
6A - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Ml 001LLF [001LLF| 10UTF 0.8LLF 1LLF
Fo@l - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~F4 N RILLT L
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl_ <05 0.35 0.023 - 0.006 - -
4A <0.5 0.29 0.010 - <0.005 - -
64 <0.5 0.41 0.019 - 0.007 - -
8A <0.5 0.45 0.013 - 0.006 - -
10H <0.5 0.29 0.024 - <0.005 - -
12H <0.5 0.25 0.024 - <0.005 - -
28 <0.5 0.43 0.046 — 0.007 — —
BiLH HRHERTE | R : e (=S
I/ Lk coD =% > EE BERECER
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
ERE - - 1.0 - - - 90
7y: 1 - 14 - - - 82
6A| - - 1.3 - - - 71
S H - - 0.5 - - - 110
108 = = 14 = = = 89
12H - - 0.7 - - - 100
28 - - 0.7 - — — 86




